
SAP ABAP table VZSORT {Sort values for object}

VZSORT

MANDT [CLNT (3)]

SNUMOBJ [CHAR (2)]

SOBJEKT [CHAR (13)]

SLWID [CHAR (7)]

USE04 [UNIT (3)]

USE05 [UNIT (3)]

USE06 [CUKY (5)]

USE07 [CUKY (5)]

T000

MANDT [CLNT (3)]
 VZSORT-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VZSORT-USE04 = T006-MSEHI 
0..N

{0,1}  VZSORT-USE05 = T006-MSEHI 0..N

{0,1} TCN00

MANDT [CLNT (3)]

SLWID [CHAR (7)]

 VZSORT-SLWID = TCN00-SLWID 

0..N
1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VZSORT-USE06 = TCURC-WAERS 

0..N

{0,1}

 VZSORT-USE07 = TCURC-WAERS 

0..N

{0,1}


